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Y& 2,100,000 2,100,000 0
0. AlgZRel 2.9 S=0iH : 1,300,0008
o1t 1,300,000 1,300,000 0| (2X2) 108,333% * 123 = 1,300,000
(RH2gh) o
ol 1,300,000 1,300,000 0
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pIETIIE =Fojus =E aE2A
a = His
0. AIR 290l ZR8 ASEE, UH4H R +:=B 5
- (2X32) 1,035,9208 » 128 = 12,431,000%
=2H % =2 15,791,000 13,531,000 -2,260,000
- (HSE) 8,333& * 128 = 100,000&
- (% 3) 83,3334 + 128 = 1,000,000
+2H ¥ 42 15,791,000 13,531,000 -2,260,000

0. &83lz, ®JIE & ! 8,163,0008

(2 X3) 8,000,000& (XSS 50008 (F)158,0008
6,863,000 8,183,000 1,300,000 - ®JI23 : 350,0008 » 128 = 4,200,000&

- &8z 23 : 20,0008 128 = 240,0008

- JIEt 3BR3 : 3,723,000&

or
2]
0
o

0
0H
0
[T}

6,863,000 8,183,000 1,300,000

0. HBO 21801 XZ8t= HA : 39,704,000&
(£X3) : 4,060,0008 (XS E):50,0008

- LESTHBHA M S ¢ 132,800

- XAX EEE : 471,510&

- B3 E&= : 300,700

- NS AASNESE BER : 924,2008

- YRBHLII _HALR BHE : 779,3001
HM=203 39,944,000 39,704,000 —240,000| - AIREZE PH2 © 130,000

- J1Et HASMHS ¢ 1,531,000&
SAIANLHAHAEH: 30,3008

) 1 41,6708 1231 ®=500,000&
HAHSHEE (HESR) @ 2,5008 » 98 = 22,5008
IAFRS) @ 35,094,0008

PRI 2 35,004,00081 « 48) = 8,773,500&
27 SRt A EE ¢ 301,0008

[k
1]

TR ™
J

.

HAzs03 39,944,000 39,704,000 -240,000

0. RE/FO, TAHFHIKXL, JHHAZH @ 1,250,0008

z

=gl 1,150,000 1,250,000 100,000 ~ (2X2) 1,100,0009
- (X)) 50,0008 (ZRZ)100,0008
el 1,150,000 1,250,000 100,000
0. NEXR YBIISH, IPH S 2EIHZ =FKIX OILIE Ay
JIEt2 el 100,000 100,000
- (HRE) 8,3308 * 128 = 100,0008
SAXEAHI 0 0 0
JIEHR 100,000 100,000 0
65, 148,000 64,048,000 -1, 100.000
744,843,000 722,069,000 -22,584,000
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JIE oAby FEH 0| 2 GE2H
2 g = H=s
0. Al &l - S=H| R 2C00EHI,D ol Algdl
Al 15,400,000 15,400,000 0
(42 A ) 15,400,000
Al 15,400,000 15,400,000
0. AIE2E0 LR8 HIERYHl S :14,037.0008
A SH| 14,037,000 14,037,000 —(RUEEZ)FHIEY &, -+2AAR (12,540, 0008!)
—( TR ) 297 0002 (2&12)1,200,0008
Tr&EF SH 14,037,000 14,037,000
0. B Y AZHHI RS ML= RX B2H
- (2X3) 4,893,0008 (DIs2)
A& EY R XL 7.009.000 6.843.000
- (At£E) 300.0008
- (Z&3) 1.650.0008
A& ZHIRXIHI 7,009,000 6,843,000
Al b 36,446,000 36,280,000
THArZE A 38,446,000 36.280.000
0. YLXE PIB £8H|
==L 100,000 100,000
- (A2<) 100,0008
S 2| 2HY| 100,000 100,000,
0. YAXIS SAHPY Y 2ZH|
EEL] 200,000 200.000
- (2X3) OR(FRIZ) 100,000 (XS ) 100,000
0. UKL HAHM % A 2160008
[elfel =4
= 0000 RlsEIL ~TEEST 1,508 » 124 = 16,0008
(SR2)100 000K TS EH) 100 000
EIEL] 500,000 416.000]
0. Al HH0 RS SZH| : 210,0008
- (BX3) o®
S EH| 200,000 210,000
- (R£E) 100,0008
- (F&3Z) 110,000
A2 H| 200,000 210,000]
29| 800,000 726,000
0. YUATS 2AF T2 U ALBIAZ THE A
APBIAEl THE AHI 2,000,000 2,000,000 - (BE2)0” (R
- (Z&3) 2.000,0008
AtBIAC] THE AMRHI 2,000,000 2,000, 000|
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I H 0l Arod F=Z 0 ArH =3y MEZ2
o = H=s
0. YAXNE Q& KIZI2]gy 29|
wWITHE AFSb 650,000 650,000 0
- (BEX3)200,0008 (XML E)0R (2RZ)450,000
WSIE At 650,000 650,000 0
0. AXE SIS ALMWEEATZ T8 29|
HATHE ArH| 15,000,000 15,000,000 0
- (=2 At2!)15.000,000&
HATNE ALY 15,000,000 15,000,000 0
0. YAXIS AlQI2QOZ wMEs A2 X3
[o] ¥
- LT ISR 6000 0 —(421 Ab21)15,383,333%! x 128 =169, 600, 000
2 A2 AR 169,600,000 169,600,000 0
187,250,000 187,250,000 0
Ab I 188,050,000 187,976,000 =74,000
0. JIEt CIE S0l =6HK otLishs XS
A= 100,000 100,000 0| - (A=) - 100,000
JNEZZR A F X|3: &
SN 100,000 100,000 0
100,000 100,000 0
SEXE 100,000 100,000 0
0. oyl
otelbl 50,000 150,000 100,000
- (MHEREH) 50,0008 (E=2)100,0008
ol BBl 50,000 150,000 100,000
grEtg 11,767,000 11,767,000 010. ER2XZ3 B&3 111,767,000
== X2111 TR 2A0% G201 % 50 /409
Rl 11,767,000 11,767,000 0
11,817,000 11,917,000 100,000
olgigl & JIEH 11,817,000 11,917,000 100,000
Iy 981,056,000 958,332,000 -22,724,000
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